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1. lUI~ t1J .£ tt.J )t A ~17 ~·t1 : 
(1) 1iftRtiJ.£? (5%) 

(30%) 

'. 

(2) ~-Etfttt.J·~~{xdf=t' Jt.<f:r-f-Y::}it~ l,l=~l:f=txi' t~J:.iiJtt.Jr.l-JitJ1Jtll-!a.R.Tmfa.j:_.f.tiJ.£: 

J1.1 ' JJ.z ' Jl.3 ~17 Jl.4t t/.J J\ -=f- ( 8%) o 

(3) ~t~fiJ.l.i!-:lc.iF*.l.~~ • Jt 1JfflJ:.iiJt/.J~Ht:lc.iF • $@.$t•£~~~1if? (3%) 
(4) 'f$@.ft•.£~~~ 0' iE.~I7~{t,q:' ~~~t/.J:I1UX.~>J1]Jt..f(o1if(l'!p£.~~;;(:;~~)? (6%) 

(5) fflJ:.litj:_.f.tiJ.l.b!J~Jt:lc.iF"*-~~it~1if? (3%) 

(6) ~}Jij"ijtBJ!'f~ii~JI~iii~-*-' 'f~-*-' ~171~1U1-*-*' *~~itt/.J{r*-1f-~>J1J~1iJ"? (~%) 

2. '.L..li.:Jf Tm~~- iB i.A.IaJ -~A..£ ' -3--:ll B til A. -1 5 ~~A. t.:t..t:t.:f; ~>J1] ~ 0. 1 ' 0. 2 , 0. 3 ' 0. 4 ' Oii~~­

B.:t: Lt:fi~>J1]~ 2%' 3%' 1%~!1 2%, JtlJ.f,h:i-100A..£~JJt~.:t: Lt.£*, ~;r:: ~.R.Jt.~-~-HP/Ti.A.b!J. 
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3. -~~#~~-~-~#la•aaw~~•a••~tt.Jl!~a~o~~••••1a.:t:laJ~~~fftt.J~~ 

ft · 4i:a~~PIT~fftt.J~~••~•:fi~ 2% • JtUiW£a~~tt.J~~•<f:r • ~1-1 alt.~· ... • 5 a•~ 
(10%) 

4. lUI~ <f:r ~~ill )tl.! (1 0%) 

(1) -fFHi--:fi.iitU(x)Jt.Y::Jit~ ll • ~Ait~ a 2 
• wJt.<f:r~lblfll.k+~ n b!J;fl."*- • ~;fl.-*--f-:t~it~ 

x • ttBJ! <f:r ~~ftl)tl.! o (5%) 

(2) 't <f:r~~!ll)tl.!J&..tr..,q: 'X b!Jjtfj~{t~17~J(.it~>J1]~1if? (5%) 
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(1) ~BJ!1£.-fFH~lt1tM"!<f:r •!!:! I ~~~o!J:! II ~~b!J;f;A • tk&.l.lli;e-7J<.~Jt..t~"'JJS-100~mti-J.:fi o (6%) 

(2) ttBJ! 1£. p-value ~17Jli;e-7J<..:Jf 1t Jf lUI 1h: t1-J ·ttiX. r • 1r.Hilt 1t tt.J iJd~. ;f t".:fe$@.ht_ ~-fFHi o ( 4%) 

( 3) ~II}! lt 1t}] ~!1 "!!:! II ~~-If; tt.J lUI 1h: 0 
( 4%) 

6. 'f'.:r:.All&-t.f.;JA~~•x~*f • a1TtPJJM;R.5ti'~JI:. • -f'-:t~~4.6 a· ~~£~0.8 a o JJtA~~~.t 
~Jl • '¥ .LJi~Uft~f,;J A~~-}{ • &i • .f,hlfllA:.k{*• • 4'-:t~ a it~ 4. 2 a o 1£.M;e-7]<.i!l~ 5%,q: • t;tr .. , A~~ 
~-·tt.J5tiAAMJt.~ftM?(~tllht.&•a~•.n:.•a·•ft4'-Y::Jit~ll'.a-ltft~~£B~·JtJZ 

~·'f~~~~lt)t • Z(O. 95)=1. 645) (6%) 

1. 1£. ~ ~ rr &t .-.f,h 1fll 1 o o ? ~ ;f.l * · Jt. <f:r 7 o ? -t. 1& r-nt t&.l.!i o .-tf. 5% tt.J JA ;e- 7J<. ~ :t.. r · Jt. ~ 1t. ~"* BJ! ~ rr :Jf 
65%J-:.t.J:.t/.J1!.fr -!-i&F"T ~ fil.!i (Z(O. 95)= 1. 645)? (5%) 
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8. 1£-~-1-WJ~Jt.it~#.P • ~Hl*-~ 5 m • 4i.--m:#ll:tr 8 ~{l*- • ~mM..l.Jt..iJ!-1flo(Sum of squares 

between groups, ~1-:J.SSR*--F)~ 1,225.6 • mJitJ..l.Jt..iJ!-;Qlo(Sum of squares within groups, ~VJ. 

SSE *--F)~ 2, 986 • ;t~: (12%) 

(1) Ai~A SST~§. Y.? (2%) 

(2) SSR WJ a 1b Ji.~ § Y'? (2%) 

(3) SSE WJ alb&~§. Y.? (2%) 

(4) .J~ 1.i MSR ~ §. Y'? (2%) 

(5) ~ 1.i MSE ~ §. Y'? (2%) 

(6) $.~1f1~~4i.-m-f-.J~tt~ t:~~ .p • F 1!~ §. Y.? C2%) 

9. 1,H~:Ai jf A..WJ.fi jf m1J-- o/ ~#A, B, lo C..=: ~-0- a] WJJN:~ • e.~ui!.=: ~JN:~~I!Hiif;.WJ;fl .. ,.t ~)j•J ~: uA = 

0.24 ' (JB = 0.38 ' ltJUc = 0.18 ' ~W,J W,JJN:~~I!Hiifi WJ~ nM~it~J31 A.!PAB = 0.7 'PBc = 0.4 l 11 PAC = 

0.9 • ~.fi'lm11'-WJtl:i:A.! A -0-a:J 20% • B -0-a:J 30% • C -0-a:J 50% • JtUi'lm11'-WJ~ft~I!HiifiWJ~-'"..l~§ 
Y.? (8%) 


